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Part One: (6pts)

1~

The total cost of a certain economic enterprise is: TC= 0.4 Q? + 40 Q +500, and the market

price is (P) = 2.5 Q + 17, knowing that the quantity of production (Q)=15 units.

1.1-  Calculate each of the variable cost, the total cost, and the marginal cost.

1.2-  Specify the situation of the enterprise at this level of production (Q=15 units) and
justify your answer.

Mr. Khaled has two options:

The first option: Depositing an amount of 200,000 m.u in the bank at a simple annual
interest rate (i) for a period of 100 days and the expected interest is
4000 m.u.

The second option:  depositing an amount 0f 200,000 m.u in another bank for 100 days
with an annual simple interest rate of 8%.

2.1- Calculate the simple annual interest rate (i) in the first option.

2.2-  Specify the most appropriate option for Mr. Khalid and justify your answer.

The selling price (P) of a certain product in an economic firm is P = 0.5 Q + 60
Calculate the price elasticity of production (PES) if the price increased from 100 to 150 m.u
and analyze the result.

Part Two: (4 pts)

1-

Tk

Specify the problem reflected in each of the following cases:

1.1-  Technological development in some institutions has led to the layoff of many
employees. ‘

1.2- Import outweighs (exceeds) export in a certain country.

1.3- Inadeveloping country, a category of 5% of individuals owns 70% of the national

income.
1.4- Focusing on the services sector at the expense on the agricultural and industrial sectors.

Copy the following table on the answer sheet and complete it with the appropriate answers:

Problem The appropriate policy | A measure within this policﬂ

to solve

A decrease in the level of
vocational training

Budget deficit

3-

Justify the following statement:
The Keynesian theory that focuses on the factor of demand on consumption contributes to
achieving economic growth.

(1pt)
(1pt)

(1pt)
(1pt)

(Zpts)

(1pt)

(2pts)

(1pt)



Part Three: Economi_c_D_lLC_!!lMaly sis (10pts)

Docum :
ent no 1: i ; :
¢ Lebanese now is the levels to which the prices of goods and services are

The most worrying thing for th tan tndex 15 on ¢ ; : ¢
heading in the coming periods. as the price index is on an upward trajectory, with inflation rising by 119.84

percent in May 2021 compared to the same period of the previous year and the Lebanese pound deteriorated
in the black market where the dollar reached 17,600 Lebanese pounds.

Serious fear has begun that [ebanon will enter l_hc phase of hyperinflation, which means a hysterical rise
: : 3 «eas. the economic growth in Leb: : 5
in price levels continuously. Whereas, th 8 in Lebanon has contracted by more than 20%.

Source: An-Nahar newspaper 05/07/2022

Document no 2: g i
The Lebanese social system, that is supposed to include a sound health system, good education, decent

work, and securing the most basic ne_cessitlgs _Of life such as vyatcr, electricity and medicine... is suffering
from collapse, and the citizen is deprlv.ed of hjs. mm’,l bgsw dally needs and essential rights. The Lebanese
citizen lacks his right to quality an_d fair educat.lon, as the state cannot reconcile distance education due to
the absence of electricity and good internet service, and between opening educational institutions and taking

health measures to prevent the Spl:ead_‘)f (?01'0"3- g ]
The International Labor Organization, in cooperation with the Lebanese Ministry of Labor, estimates that

unemployment rates rose from 1 1.3% in 2918 to 18.5% in 2019, then jumped to 36.9% in 2020 and reached
41 4% in 2021. Certainly, the situation will worsen with the great collapse of the economic and financial

situation. :
From the health point of view, the state 1S no longer able to strengthen the health system and support the

medical staff, who have been exhausted from facing Corona, and chose emigration over survival and
confrontation.
Source: www.lebarmy.gov.lb issue number 120 -April 2022
Referring to the documents above, answer the following questions:
i- By referring to document nol:
1.1-  Extract from the first paragraph of the document the economic problem. (0.25pt)
1.2-  Show the effect of this problem on the monetary situation referred to in the document. (0.5pt)
13- It’s mentioned in the document “The Lebanese pound deteriorated in the black  (0.5pt)
market” specify the direct social effect of this deterioration.

2-  2.1- Deduce from document No. 2 the developmental problem, justify your answer using (1pf)

two indicators from the document.
2.2- Mention two measures to solve this problem. (1pt)

3-  Referring to document No. 2:

3.1-  Deduce the type of unemployment, justify your answer. i (1pY
3.2~ Bxiract the demographic effect of unemployment, then specify a negative economic 07309
result for it.

Show the effect of the economic problem extracted from document 1 on the type of  (lpt)
unemployment deduced in document No. 2.

The above two documents refer to two economic problems and a social one. Write a text (4pts)

in which you suggest:
- An appropriate policy to overcome these problems, mentioning three measures
within this policy, linking between the application of these measures and the
improvement of the social and economic situation.
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Premiére Partie : (6pts)
1- Le colt total d'une entreprise économique est : CT = 0,4 Q2 + 40 Q +500,
le prix du marché( P) = 2,5Q + 17 sachant que la quantité de production (Q ) est 15 unités .
I.1-  Calculer le coiit variable, le coit total et le coit marginal. (1pt)
1.2-  Spécifier la situation de l'entreprise a ce niveau de production ( Q= 15 unités ) et (1pt)
Justifier votre réponse.
2- M. Khaled a deux options :
La premiére option: ~ Déposer un montant de 200 000 u.m dans une banque a un taux
d'intérét annuel simple (i) pour une période de 100 Jjours afin
d’obtenir un montant d’intérét de 4 000 u.m.
La deuxieme option: ~ Déposer un montant de 200 000 u.m dans une autre banque pour une
période de 100 jours & un taux d'intérét annuel simple (i) de 8 %.
2.1-  Calculer le taux d’intérét annuel simple (i) dans la premiére option. (1pt)
2.2-  Déterminer I'option la plus appropriée pour M. Khaled et justifier votre réponse. (1pt)
3-  Le prix de vente (P) d’un certain produit dans une entreprise économique est : (P) = 0,5 q +60
Calculer I'€lasticité de la production par rapport au prix au cas ou le prix a augmenté de 100  (2pts)
a 150 u.m et analyser le résultat.
Deuxiéme Partie : (4 pts)
1- Déterminer le probléme reflété dans chacun des cas suivants : (1pt)
1.1-  Le progres technologique adopté dans plusieurs institutions a poussé au licenciement
d’un grand nombre d’employés.
1.2-  Dans un pays déterminé, les importations dépassent les exportations.
1.3- Dans 'un des pays sous — développés, 5% d'individus jouit (posséde) de 70% du
revenu national.
1.4- La concentration sur le secteur des services au détriment des deux secteurs agricole et industriel.
2- Copier le tableau suivant sur la feuille de réponses et compléter les cases vides par les (2pts)
expressions convenables
Probléme. Politique de résolution | Une mesure dans le cadre de
appropriée . cette politique.
Une baisse du niveau de
réhabilitation et de formation
professionnelle .
Déficit budgétaire .
3- Justifier I’expression suivante :
La théorie Keynésienne qui se concentre sur la demande a la consommation contribue 3 la (1pt)
réalisation de la croissance économique.




Troisiéme partie : analyse des documents (10pts)

Document n° 1 :

Les niveaux vers lesquels les prix des biens et des services vont se diriger dans les périodes a venir
inquictent actuellement le plus les libanais, comme I'indice des prix est sur une trajectoire ascendante, avec
une inflation en hausse de 119,84 % en mai 2021 par mppmt a Ja méme période de I'année précédente et la
livre libanaise a subi une forte détérioration sur le marché noir ol le dollar ait atteint 17 600 livres.

De sérieuses craintes menacent actuellement le Liban qui risque d’entrer dans la phase d'hyperinflation,
ce qui signifie une hausse hystérique et ininterrompue des niveaux de prix sachant que la croissance
¢conomique au Liban a diminu¢ de plus de 20%.

Source : journal An-Nahar 7/5/2022

Document n® 2 :
Le régime social libanais qui suppose comprendre un systéme de santé convenable, une bonne éducation,

un travail décent et une garantie des nécessités de la vie les plus élémentaires telles que I'eau, I'électricité et
les médicaments... est en train de s'effondrer et le citoyen est privé de ses besoins quotidiens les plus
¢lémentaires et de ses droits fondamentaux. Le citoyen libanais n'a plus le droit 4 une éducation de qualité
et équitable, comme I'Etat ne peut pas concilier entre I'enseignement & distance en raison de I'absence totale
d'électricité aussi bien qu’a cause du mauvais service de I’internet, et l'ouverture d'établissements scolaires
qui exigent I’adoption des mesures sanitaires pour empécher la propagation de Corona.

L'Organisation internationale du travail, en coopération avec le ministére libanais de travail, estime que
le taux de chdmage a augmenté de 11,3% en 2018 a 18,5% en 2019, puis a bondi 4 36,9% en 2020 et a atteint
41,4% en 2021. Certes, la situation va au pire avec le grand effondrement de la situation économique et
financiére.

Du point de vue sanitaire, I'Etat n'est plus en mesure de renforcer le systéme de santé et de soutenir le
personnel médical, épuisé par le fait d'affronter Corona, et qui a préféré I’émigration plutét que la survie et

la confrontation.
Source : //www.lebarmy.gov.lb -No :120 - Avril 2022

En se référant aux deux documents susmentionnés, répondre aux questions suivantes :
1- En se référant au document no 1 :
1.1-  Extraire (Tirer) du premier paragraphe du document le probléme économique. (0.25pt)
1.2-  Montrer I’effet de ce probléme sur la situation monétaire évoquée dans le document.  (0.5pt)
1.3- Il est mentionné dans le document « La livre libanaise s’est détériorée sur le marché  (0.5pt)
noir » spécifier I’effet (le résultat) social direct de cette détérioration

2-  2.1- Déduire du document n°2 le probléme de développement (développemental), (1pt)
justifiez votre réponse a l'aide de deux indicateurs du document.

2.2- Mentionner deux mesures pour traiter (dépasser) ce probléme (1pt)
3- En se référant au document n°2 :
3.1-  Déduire le type de chdmage et justifier votre réponse. (1pt)

3.2- Tirer Ieffet démographique du chomage puis spécifier une conséquence (0.75pt)
économique négative pour cet effet.

4- Montrer ’effet du probléme économique tiré du document no : (1) sur le type de chdmage (1pt)
déduit dans le document n° 2

5.  Les deux documents ci-dessus font référence a4 deux problémes économiques et un (4pts)

probléme social. Rédiger un texte ol vous suggérez :

Une politique appropriée pour traiter tous ces problémes, mentionnant trois mesures
de cette politique, expliquant ’effet de l'application de ces mesures et I'amélioration
des deux situations sociale et économique.



